### EXAMINATION DEPARTMENT

Date: 31-MAY-2016

Reference: EXAM / SPADHI / BITIC / PATNA / BBE-SIXTH / (SP/16) 2015-2016

By the order of Examination committee, the following is the result of BBE - SIXTH Semester held in the month of APRIL-2016

SESSION 2015-2016 CLASS : BBE BRANCH COMPUTER SCIENCE SEMESTER / TRIMESTER SIXTH MONTH OF EXAM APRIL-2016 BBA5001(3) BBA5011(2) BBA6001(2) BBA6003(3) BBE6001(3) BBE6002(NC/0.0) BBE6007(3) BBE6013(3) TOTAL CREDIT TOTAL ROLL NO NAME SGPA REMARKS BBE4001(3) BBE4007(3) BBE2011(3) BBE4005(3) BBE2009(4) POINTS CREDITS GR. GR PT. GR. PT. GR. PT. GR. PT. PT. GR. PT. GR. PT. GR. PT. B+ 21.0 10.0 B+ 21.0 В 24.0 Α 16.0 C 18.0 A+0.0 C 15.0 Α BBE/15001/13 HANSHUL RAJ 125.0 19.0 6.58 A+27.0 A+18.0 A+18.0 Α 24.0 A+27.0 A+0.0 Α 24.0 Α 24.0 BBE/15002/13 **ABHINAV** 162.0 19.0 8.53 27.0 27.0 Α 24.0 Α 16.0 Α 16.0 A+ Α 24.0 A+0.0 A+ A+ 27.0 BBE/15003/13 FARIHA HASAN 161.0 19.0 8.47 27.0 18.0 24.0 27.0 27.0 A+ A+ 18.0 A+ B+ 21.0 0.0 A+ A+ Α  $\mathbf{E}\mathbf{x}$ BBE/15004/13 ABHISHEK KUMAR PATHAK 162.0 19.0 8.53 \_ 27.0 27.0 27.0 A+ A+ 18.0 16.0 A+Α 24.0 A+ 0.0 A+ A+ 27.0 Α BBE/15005/13 AKANKSHA PRASAD 166.0 19.0 8.74 C 15.0 В 12.0 C 10.0 В 18.0 C 15.0 A+0.0 C 15.0 Α 24.0 BBE/15006/13 ANMOL SAMANT 109.0 19.0 5.74 30.0 27.0 Ex 30.0 Ex 20.0 A+18.0 Α 24.0 Α 24.0 A+ 0.0 Ex A+ BBE/15007/13 GAURAV PRAKASH 173.0 19.0 9.11 27.0 18.0 14.0 24.0 24.0 A+ A+ B+Α Α 24.0 A+0.0 Α Α 24.0 BBE/15008/13 ABHISHEK MADHUKAR 155.0 19.0 8.16 27.0 A+ 16.0 B+ 21.0 B+ 21.0 0.0 A+ 27.0 A+ 27.0 Α 16.0 Α A+BBE/15009/13 APOORWA RAJ PANDEY 179.0 23.0 7.78 В 24.0 27.0 A+A+18.0 16.0 B+21.0 Α 24.0 A+0.0 A+27.0 A+27.0 Α BBE/15010/13 KAVYA 160.0 19.0 8.42

BBA5001(3) : ENTREPRENEURSHIP AND SMALL BUSINESS BBE4001(3) : CORPORATE LAWS

B+

A+

BBA5011(2) : E-COMMERCE BBE4007(3) : INTEGRTED MARKETING COMMUNICATION

BBA6001(2) : MANAGEMENT INFORMATION SYSTEM : BUSINESS COMMUNICATION II BBE2011(3) BBA6003(3) BBE4005(3) : MANAGEMENT AND CONTROL OF COST : PROJECT MANAGEMENT

21.0

27.0

Α

A+

16.0

18.0

B+

B+

14.0

14.0

B+

Α

BBE6001(3) : PRINCIPLES OF BANKING BBE2009(4) : BUSINESS STATISTICS II BBE6002(NC/0.0) : PERSONALITY DEVELOPMENT

BBE6007(3) : BASIC ECONOMETRICS

21.0

24.0

24.0

27.0

A+

A+

0.0

0.0

B+

Ex

21.0

30.0

A+

Α

27.0

24.0

144.0

164.0

Α

A+

Controller of Examinations

19.0

19.0

7.58

8.63

Disclaimer

: Institute is not responsible for any inadvertent error that may have crept in the results being published on the Net. The results published on the Net are for immediate information to the examinees. This can not be treated as original grade card. Disclaimer

Original Grade card will be issued by the institute in due time.

: PROJECT III - BASED ON APPLIED ECONOMICS

SUGANDHA KUMARI

MOHIT SINGH

BBE/15011/13

BBE/15012/13

BBE6013(3)

### EXAMINATION DEPARTMENT

Date: 31-MAY-2016

Reference: EXAM / SPADHI / BITIC / PATNA / BBE-SIXTH / (SP/16) 2015-2016

By the order of Examination committee, the following is the result of BBE - SIXTH Semester held in the month of APRIL-2016

SESSION : 2015-2016 CLASS : BBE BRANCH COMPUTER SCIENCE SEMESTER / TRIMESTER SIXTH MONTH OF EXAM APRIL-2016 BBA5001(3) BBA5011(2) BBA6001(2) BBA6003(3) BBE6001(3) BBE6002(NC/0.0) BBE6007(3) BBE6013(3) TOTAL CREDIT TOTAL ROLL NO NAME SGPA REMARKS BBE4007(3) BBE2011(3) BBE4005(3) BBE2009(4) BBE4001(3) POINTS CREDITS GR. GR. GR. PT. GR PT. GR PT. PT. GR. PT. PT. GR PT. GR. PT. 24.0 D 8.0 С В 18.0 B+ 21.0 21.0 Α 10.0 A+0.0 B+ Α 24.0 BBE/15013/13 ALISHA PRIYA 126.0 19.0 6.63 UNFAIR MEANS 30.0 20.0 27.0 27.0 Ex Ex A+18.0 A+Α 24.0 A+0.0 A+27.0 A+BBE/15014/13 ARYA KUMARI 173.0 19.0 9.11 27.0 18.0 27.0 27.0 A+ A+ A+ 18.0 Α 24.0 A+ 27.0 A+ 0.0 A+ A+ BBE/15015/13 KUMAR SAMEER 168.0 19.0 8.84 30.0 18.0 27.0 27.0 27.0 Ex A+ A+ 18.0 A+ A+ 0.0 Ex 30.0 A+ A+ BBE/15016/13 ASHRAYA PRAKASH 177.0 19.0 9.32 \_ 30.0 27.0 27.0 27.0 Ex Ex 20.0 A+18.0 A+ A+ 27.0 A+ 0.0 A+ A+BBE/15017/13 STUTE 176.0 19.0 9.26 A+ 27.0 A+18.0 Α 16.0 B+21.0 Α 24.0 A+0.0 Α 24.0 A+27.0 BBE/15019/13 ATUL DUBEY 157.0 19.0 8.26 27.0 18.0 B+B+ 24.0 A+ A+ 14.0 21.0 Α 24.0 A+ 0.0 Α 24.0 Α BBE/15020/13 ISHANK RAVI 152.0 19.0 8.00 24.0 14.0 B+ 21.0 24.0 27.0 Α Α 16.0 B+B+ 21.0 A+ 0.0 Α A+ BBE/15021/13 IISHA SRIVASTVA 175.0 23.0 7.61 B+28.0 Ex 30.0 A+ 18.0 Α 16.0 24.0 24.0 0.0 A+ 27.0 27.0 Α Α A+ A+ BBE/15023/13 ANSHUL JAIN 166.0 19.0 8.74 В 18.0 В 12.0 D 8.0 C 15.0 В 18.0 A+0.0 D 12.0 Α 24.0 BBE/15024/13 RAVI SHANKAR SINGH 107.0 19.0 5.63 27.0 A+ 27.0 Ex 20.0 A+ 18.0 A+ 27.0 A+ 27.0 A+0.0 A+ 27.0 A+ BBE/15025/13 ANAM SHAMIM 173.0 19.0 9.11

BBA5001(3) : ENTREPRENEURSHIP AND SMALL BUSINESS BBE4001(3) : CORPORATE LAWS

Α

BBA5011(2) : E-COMMERCE BBE4007(3) : INTEGRTED MARKETING COMMUNICATION

A+

18.0

BBA6001(2) : MANAGEMENT INFORMATION SYSTEM BBE2011(3) : BUSINESS COMMUNICATION II
BBA6003(3) : PROJECT MANAGEMENT BBE4005(3) : MANAGEMENT AND CONTROL OF COST

24.0

BBE6001(3) : PRINCIPLES OF BANKING BBE2009(4) : BUSINESS STATISTICS II

BBE6002(NC/0.0) : PERSONALITY DEVELOPMENT - :

BBE6007(3) : BASIC ECONOMETRICS BBE6013(3) : PROJECT III - BASED ON APPLIED ECONOMICS -

BBE/15026/13 ANSHIKA CHAUBEY

Disclaimer

27.0

В

18.0

A+

0.0

A+

16.0

Α

Controller of Examinations

19.0

8.26

27.0

157.0

27.0

A+

A+

Disclaimer : Institute is not responsible for any inadvertent error that may have crept in the results being published on the Net. The results published on the Net are for immediate information to the examinees. This can not be treated as original grade card.

Original Grade card will be issued by the institute in due time.

EXAMINATION DEPARTMENT

Reference: EXAM / SPADHI / BITIC / PATNA / BBE-SIXTH / (SP/16) 2015-2016

By the order of Examination committee, the following is the result of BBE - SIXTH Semester held in the month of APRIL-2016

Date: 31-MAY-2016

SESSION	I : 2015-2016 CLASS :	BBE		BRA	NCH	: COM	PUTER	SCIENC	CE		SEMESTER / TRIMESTER							KTH	MC	NTH OF EX	APRIL-2016		
ROLL NO	NAME	U L		001(3) 001(3)		5011(2) 4007(3)		5001(2) 2011(3)				5001(3) 2009(4)	BBE6002	(NC/0.0)	BBE	5007(3)		5013(3)	TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS	
			GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	Tonvis	CIGEDITO			
BBE/15027/13	RAJ ANIMESH SINGH CHAUHAN	U	A	24.0	A	16.0	A+ B	18.0 18.0	A	24.0	A	24.0	A+	0.0	A+	27.0	A	24.0	175.0	22.0	7.95	-	
BBE/15028/13	ANJU PRIYA	U	A	24.0	A+	18.0	B+	14.0	B+	21.0	B+	21.0	A+	0.0	A	24.0	A	24.0	146.0	19.0	7.68	-	
BBE/15029/13	SWARNA SALONI	U	B+	21.0	D	8.0	В	12.0	В	18.0	С	15.0	A+	0.0	B+	21.0	A	24.0	131.0	22.0	5.95	UNFAIR MEANS	
BBE/15031/13	ALOK RAJ	U	- A+	27.0	A	16.0	- B+	14.0	D B+	12.0 21.0	- B+	21.0	- A+	0.0	A	24.0	A	24.0	147.0	19.0	7.74	-	
BBE/15032/13	DIVYA SALONI	U	- A+	27.0	- A+	18.0	- A+	18.0	- A+	27.0	- A	24.0	- A+	0.0	Ex	30.0	A	24.0	168.0	19.0	8.84	-	
BBE/15033/13	ABHISHEK SINGH PARMAR	U	- A+	27.0	- A+	18.0	- A	16.0	- A	24.0	- A	24.0	- A+	0.0	Ex	30.0	- A+	27.0	166.0	19.0	8.74	-	
BBE/15034/13	DIKSHA	U	A	24.0	A	16.0	A	16.0	A	24.0	A	24.0	- A+	0.0	- A+	27.0	A	24.0	155.0	19.0	8.16	_	
		L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-					
BBE/15035/13	SAAHIL RAJ	L	- A	24.0	- A	16.0	B+	14.0	B+ -	21.0	B+ -	21.0	A+ -	0.0	- -	24.0	- -	24.0	144.0	19.0	7.58	-	
BBE/15036/13	SHREEJA SHRADHA	U L	A+ -	27.0	A+ -	18.0	A -	16.0	A+ -	27.0	A -	24.0	A+	0.0	A+ -	27.0	A -	24.0	163.0	19.0	8.58	-	
BBE/15037/13	SURYA SHALINI	U	A+	27.0	A+	18.0	A -	16.0	A -	24.0	A -	24.0	A+	0.0	Ex	30.0	A -	24.0	163.0	19.0	8.58	-	
BBE/15040/13	SONALI KUMARI	U	В	18.0	A	16.0	В	12.0	B+	21.0	В	18.0	A+	0.0	В	18.0	A	24.0	127.0	19.0	6.68	-	
BBE/15041/13	ROUNAK KUMAR	U	A+	27.0	A	16.0	B+	14.0	A	24.0	A	24.0	A+	0.0	С	15.0	A	24.0	144.0	19.0	7.58	-	

BBA5001(3) : ENTREPRENEURSHIP AND SMALL BUSINESS BBE4001(3)

: E-COMMERCE BBE4007(3)

BBA5011(2) BBA6001(2) : MANAGEMENT INFORMATION SYSTEM BBE2011(3) : BUSINESS COMMUNICATION II

BBA6003(3) : MANAGEMENT AND CONTROL OF COST : PROJECT MANAGEMENT BBE4005(3)

BBE6001(3) : PRINCIPLES OF BANKING BBE2009(4) : BUSINESS STATISTICS II

BBE6002(NC/0.0) : PERSONALITY DEVELOPMENT

BBE6007(3) : BASIC ECONOMETRICS

: PROJECT III - BASED ON APPLIED ECONOMICS BBE6013(3)

: CORPORATE LAWS

: INTEGRTED MARKETING COMMUNICATION

Controller of Examinations

Disclaimer

Disclaimer : Institute is not responsible for any inadvertent error that may have crept in the results being published on the Net. The results published on the Net are for immediate information to the examinees. This can not be treated as original grade card.

Original Grade card will be issued by the institute in due time.

EXAMINATION DEPARTMENT

Reference: EXAM / SPADHI / BITIC / PATNA / BBE-SIXTH / (SP/16) 2015-2016

By the order of Examination committee, the following is the result of BBE - SIXTH Semester held in the month of APRIL-2016

SESSION	SESSION: 2015-2016 CLASS: BBE BRANCH: COMPUTER SCIENCE SEMESTER / TRIMESTER: SIXTH MONTH														MONTH C	OF EXAM : APRIL-2016						
ROLL NO NAME	U L		BBA5001(3) BBE4001(3)		BBA5011(2) BBE4007(3)				BBA6003(3) BBE4005(3)		001(3) 009(4)	BBE6002(NC/0.0)		BBE6007(3)		BBE6013(3)		TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS	
			GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
BBE/15042/13 MA	MANISH VIMAD	U	A	24.0	A+	18.0	B+	14.0	A	24.0	B+	21.0	A+	0.0	A	24.0	A	24.0	149.0	19.0	7.84	
	WANISH KUWAK	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	149.0	19.0	7.84	
BBE/15043/13	MOTHE NADAIN	U	A+	27.0	Α	16.0	A	16.0	B+	21.0	A	24.0	A+	0.0	A	24.0	A	24.0	152.0	10.0	9.00	
	MOHII NAKAIN	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		152.0	19.0	8.00	-

BBA5001(3) : ENTREPRENEURSHIP AND SMALL BUSINESS BBE4001(3) CORPORATE LAWS BBA5011(2) : E-COMMERCE BBE4007(3) INTEGRTED MARKETING COMMUNICATION BBA6001(2) : MANAGEMENT INFORMATION SYSTEM BBE2011(3) BUSINESS COMMUNICATION II MANAGEMENT AND CONTROL OF COST BBA6003(3) PROJECT MANAGEMENT BBE4005(3) BBE6001(3) PRINCIPLES OF BANKING BBE2009(4) BUSINESS STATISTICS II

BBE6002(NC/0.0) : PERSONALITY DEVELOPMENT BBE6007(3) : BASIC ECONOMETRICS

BBE6013(3) : PROJECT III - BASED ON APPLIED ECONOMICS

Disclaimer

Date: 31-MAY-2016

Controller of Examinations

Disclaimer

: Institute is not responsible for any inadvertent error that may have crept in the results being published on the Net. The results published on the Net are for immediate information to the examinees. This can not be treated as original grade card.

Original Grade card will be issued by the institute in due time.